0.5

Efficiency vs hit

efficiency vs hits

Ratio

? WW!IN}(!!\HHHHWHHHHHNHHHJ'

o AT
0 20

80
TP hits
—=— DQM_TT__ORIGINAL
—e— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2
[Efficienc| —— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL4

4
2 [
o [
@ L
4 [ o -
(3\ -
5 O S
g o8f
= L
@ I : : : :
0.6f----"" Treeees AR PR AR
0.4 e b b
I SO OIS TS p &#—J[---
[ : : H
L : :__-.r—--g-.... :
° 10' I = e el i
£ 41 4 -
o i
0 5 10 15 20 25
TP layers

0
Z0.18F+
Zo.16F
a o
©0.14F

yers

Ratio
-

0
Z0.18F i
Qo.16F--:
>Quf
So.12f
o1
Q%f
0.06F i
0.04F--1
omf

ers

3D la

efficiency

Ratio

r() 2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


